
www.ronixtools.com

CORDLESS TOOLS

8609
Cordless Circular Saw



www.ronixtools.com

CORDLESS TOOLS

Number Name

1 wrench
2 Rear cover

3 Tapping screws ST3×14
4 Right casing
5 Discharge protection plate
6 Switch 
7 Switch push rod
8 Push rod return spring
9 Motor
10 Screw M4×12
11 Rubber column
12 Tapping screws ST4×11
13 Left casing
14 Depth clamp wrench
15 Depth clamp screw assembly
16 Aluminum head shell cover
17 Washer
18 Battery bracket
19 Washerφ5
20 Bearing 606zz
21 Hexagon socket head 

screw M5×25
22 circlip φ10
23 Big gear
24 Shaft lock 
25 Woodruff key 3×10
26 Output shaft
27 bearing 6000zz-2RS
28 Dust cover
29 Gear seat
30 Countersunk head screws 

M4×8

Number Name

31 Aluminum head shell cover
32 Dust connector
33 Cover return spring
34 Transparent cover
35 Transparent cover wrench
36 screw M4×8
37 Red light
38 Circlip φ 32
39 Black light
40 Lower clamping plate
41 Saw blade
42 armature gear
43 Upper clamping plate
44 Hexagon socket head 

screws M6×16
45 ScrewM6×35
46 Stop pad
47 White light
48 White Lampshade
49 Screw M3×8
50 Shaft lock button
51 Shaft lock push rod
52 Shaft lock push rod return 

spring
53 Hexagon socket set 

screws M5*8
54 Line cover plate
55 Parallel guide
56 Guide screw assembly
57 knob assembly
58 Half round head square 

neck bolts M6*14 8609
Cordless Circular Saw

Number Name

59 Iron base assembly
60 Locknut M6


